Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2018

Subject Name: Fundamental Mathematics for Computer
Subject Code: 4CS01BMT1 Branch: BCA

Semester: 1 Date: 27/03/2018 Time: 02:30 To 05:30 Marks: 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Q-1 Attempt the following questions: (14)
a) If two sets A and B then A is subset of B is denoted by
a) AnB b) AB ¢) AcB d) AoB

b) If A={2,4,57}and B={1,357}then ANB=
a) {24} b) ¢ c) {57} d) {1234,57)

¢) If A=[1 0] and B:[ﬂthen AB =
a) [1 1] b) [0 0] c) [0] d) [1]

10
d If A= {O 2} Is a square matrix then adjA
10 -1 0 2 0
a) b) C) d) none of these
0 2 0 -2 01
e) Point iIs in the first quadrant.
a) (3,5) b) (3, -5) ¢ (—3, —5) d) (-3, 5)
f) If two straight linesy =m x+c &y =m,x+c are parallel then
a) m, =m, b) m =-—m, c) mm, =1 d) mm, =-1
g) Ifo= %then the value of cos26 =

a) -2 b) 0 c)l d) -1
h) sec?6—tan?0 = .
a) -1 b) 0 c) 1 d) none of these
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a) X b) log x c) 1+logx d) 1
X

Dlery=

dx
2x
a) e b) 2e* c) d) none of these
d
a) 2° b)1 ¢) 0 d) none of these
Jde:
a) 2x+c b) 2 c) 0 d) none of these
_[cosxdx=
a) COSX+C b) sinx+c c) —cosx+c d) —sinx+c
J.xdx=
2

a) x+c b)%+c 91  d) Tic

X

Attempt any four questions from Q-2 to Q-8

Attempt all questions
If A={1,2,35};B={2,3,5};C={12,4}then verify that

i) An(BuUC)=(AnB)U(ANC) ii) Au(BNC)=(AuB)n(AULC)
If U={x/xeN,x<6},A={x/xe N &Xxisodd number, x <6} and
={x/x e N &xisevennumber, x < 6} then prove that
i) (ANB) =A'UB' i) (AUB) = A'NB
If A={a,b,c.d,e, f},B={a,e, f,mn}and C ={b,e,m,n}then find
i) AUBUC ii) An(BuUC) iii)) AnBNC iv) A-B

Attempt all questions

-1 0 2 1
If A:{ ) 3} andB = {0 3} are two matrices then verify that (AB)" = BT A"

1 2 2
Find the inverse of the matrixA={2 1 2
2 21
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Q-4

b)

Q-5

b)
c)

1 -1 1 -
If A={ ) 2}and Bz{o ;}hen find matrix3A+Band A—4B..

Attempt all questions
Prove that(2,-2),(8,4),(5,7) and (—1,1)are the vertices of a rectangle.

1.) Find the area of a triangle formed by the points(-3,0),(2,8),(5,1).

2.) Find the co-ordinates of a point which divides the line joining the points
(1L —2)and (4,7)in the ratio 2:5.

Find the equation of a line passing through (5,7) and perpendicular to the line
2X+3y+5=0.

Attempt all questions
Prove that(1+ tan 0)2 +(1+cot 9)2 =(secd+cos ecé?)2 .
Draw the graph of y =sinx, 0<x<r.

Evaluate the following:

1.) 3sin?30° —tan® 45° +cot” 45° — 2 cosec®30° 2.) sin 2?” + cos%r +tan 5?”

Attempt all questions

x?+1

X+1

Find the differentiation of with respect to x.

Find: %(Iog(sz +3x))

If x=at*& y="2at then findg—y.

X

Attempt all questions
EvaluateJ'xze2X dx by method of integration by parts.

2
Find: J‘@dx

Find: J'(x—l)3 dx

Attempt all questions
If A={a,b,c};B={b,c};C ={a,c}, prove that Ax(B—C)=(AxB)—(AxC).

Obtain the equation of a line passing through (3,1) and the point of intersection

of the lines4x+5y+7=0and3x—-2y-12=0.
Solve the equations 2x+3y =5and 5x—4y =1by using matrix method.
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